
Class V SOCIAL SCIENCE HOMEWORK WORKSHEET 

Topic – The Treeless Grasslands 

 

I.  Cross out the wrong answer. 

 

1. Which of these is not a grassland? 

(a) Steppes                              (b) Pampas                               (c) Silos               

 

2. The continent which does not have any grasslands 

 (a) Antarctica                              (b) Europe                           (c) Australia               

 

3. The Prairies are not found in this country 

           (a) Brazil                        (b) USA                         (c) Canada 

           

4. The river which does not flow through the Prairies 

           (a) Mississippi                             (b) Amazon                          (c) Missouri 

              

5. The crop which does not grow in the Prairies  

           (a) rice                              (b) wheat                          (c) barley 

 

6.   An animal which is not found in the Prairies        

(a) cow                             (b) bison                              (c) camel               

 

7.   An industry which is not found in the Prairies        

(a) garments manufacturing             (b) meat-packing                    (c) flour-mills 

   

8.   A mineral which is not found in the Prairies        

           (a) manganese                        (b) lignite coal                       (c) mineral oil 

           

9.   A lake which is not one of the Great Lakes 

           (a) Huron                            (b) Baikal                           (c) Michigan 

              

10. A farm in the Prairies does not have  

           (a) ranches                              (b) silos                          (c) igloos 

             

    11. Which is not a process of farming?  

           (a) ore-crushing                             (b) ploughing                          (c) threshing 

 

             


